n%l—‘—lkﬁr

2 THMTEENXTEE O—K=F

(UL A DER A B A-B (EAr 0 1)
3 FRITER | FRIB0EE IR
# H =8 m Eaopn b dgs b ] =
ZEfT 4 11, 180, 000| 11, 180, 000 OIfEET -5 < v 22 {4
2 BInAsft4 0 0 O} B INzZf+
3 MEIY A 30, 000 30, 000 OIFEEFE « = 1R
= Ff 11,210, 000! 11, 210, 000 0
(2) EHOE A B A-B
\ STICEE | Pk 3 0FE iy
%"I’ E %’%ﬁ%ﬁ %%Eﬁ bbi)&i%m :}% %
1 KR 2, 568, 000| 2, 568, 000 0
(1) ZREN 192, 000 192, 000 o|=EHE, Bl=EHREN
(2) &4 1,102, 000| 1,102,000 JEXETR %ﬁ%ﬁ%ﬁ
(3) % A 220, 000 220, 000 O|HES HomEHRES
(4) 3B IEBE 72, 000 72, 000 0|48 BEEFEE
(5) EFHE 400, 000 400, 000 olmsEs, oz —BREE
(6) EEE 32, 000 32, 000 O|=BREBERE
(7) 758 250, 000 250, 000 O|E#ES, FF, Y — 2
(8) {/ AL B 300, 000 300, 000 0
2 MER 8,642,000| 8,642,000 0
-iﬁ0<niﬁﬁ¥
- BB R L
-mmﬁo<@£§$%
, ] v Re
(D) FAf TR 5,032, 000| 5,022,000 10, 000} - 5 FERBBSETRER
CE O LA
cFLSD - FEREE
B AR
s BT R SR
(2) IR BHEE 2 50, 000 50, 000 OV ATRIETT « FIRIZ %
(3) REM R 150,000 150, 000 0] « HIASHR FRELMAEE
-@ﬁLﬁﬁﬁﬁ%%
(4) EHaEE 3,310,000 3,320,000 A 10,000] ﬁ&&ﬁﬂgatuﬁé§
' - TS
(5) BrEE e 5 100, 000 100, 000
& & 11,210,000({11,210,000 0

14




